Sidekick™ Lower Deck

The Sidekick Lower Deck is a convenient footrest for a rear-seated passenger, extra storage space for cargo or additional support for loaded
Cargo Hold™ Panniers on the Tern GSD.

Weight Limits
Do not exceed 25 kg (55 Ibs) per side.

Carrying Passengers

A\ Passenger should NEVER stand, mount or dismount by stepping on the Lower Deck.

A\ 1t may be illegal to carry passengers on a bike in your area even if it has been designed or configured to do so. Check your local regulations
before carrying passengers.

Seat Pad
We strongly suggest that the Lower Deck be used in conjunction with the Sidekick Seat Pad.

Handholds

Whenever the GSD is in motion, the passenger must hold on to something stationary such as frame, saddle or add-on handle.

Helmet
Passengers must wear an approved helmet.

Attire
Avoid wearing loose-fitting clothing such as skirts, pants, and shoelaces which can get caught in the spinning wheel. Take care that all straps are tied
down.

Protection from Tire
The Lower Deck and Seat Pad must be used with a set of flat folding Tern Cargo Hold Panniers or pannier bags to act as a safeguard from the tire.

What's included

WITES
MITE

()6 ammm—f)
06 commm—])

Lower Deck x 2

e

== SI =
Rear Bolt set x 2 ‘[z
N\

Front Bolt set x 2

* M10x 80 mm
* M10 Spring Washer
¢ M10 Washer

* M10 x50 mm
* M10 Washer
* M10 Nyloc Nut

kv—\ [—VJ

Bolt Location Points

1. Rear Bolt location
2. Front Bolt location




Installation Ak Add anti-seize lubricant to the tip of the bolts before

Tools required (not included) securing the nuts. If anti-seize lubricant is not available,
e 17 mm Open-End Wrench x Z - to install the Lowsr Deck apply any standard lubricant to reduce friction and

* & mm Allen Wranch - to remaove the Rear Wheal prevent thread galling.

Remove the Rear Wheel

A
a'. ._.-:_i-'::;-i:H
.."'.-'_5-" - ;"El:: .._.%E
e :
4 "Irg " h{'"\“ W %

Tl =]

i d]

N F
- !‘%ﬁf

| Font

e = . =K R ] F%h
' — ———— s B ¢ e e L i
Fit the Lowar Deck onto frarme and align the Bolt Holes. 17 mm Imsart and partially tghien Front and Raar Bolts. 1-.!."

Ak Take care notto pinch any wires or cablas. Hﬁ”

B AR A I e

Fully tighten Bath bofis 1o 30 Nm - 32 Nm tongue. 1F following the same steps as previously shown,

17 mm

Reinstall the Rear Whes

LIMITED PRODLUCT WARRANTY INFORMATIOM:

This Product comaes with an OMNE (1) YEAR Limitad Warranty from the data of retail purchasa by thae original and-user. f a matarial or workmanship
defect arises and a valid daim is received within the SWarranty Period, this Froduct will ba replaced. Mobility Holdmgs cannot be held liable for
damages to parsanal property dwa to misusa or improgar care and maintenanca. This Prodwect Warranty does not, undar any circumstance, covar the
replacamant or cost of amy third party product used with or connacted to the Product.

Tarm, the Tem Ward {logotypel, the Temn Berd (devica), G50, Sidekick Lower Deck, used alona orin combination are trade names, trade davices or
registared trademarks of Mobility Holdings, Ltd.

& 2017 Maobility Holdings, Led.

n E ! Tern Bicycles

ternbicycles.com





